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This is with water — N2 N7

Overview

The X773 cited three Nn*72 regarding a case where a man said to a woman w7050
71 012 °%: 1) she is nwmpn with the cup and with its contents;' 2. She is nwTpPn
with the cup, but not with the conten‘[s;2 3. She is nwTpn with the contents, but not
with the cup.” The X7»3 explained that there is no disagreement between these three
mn»12 because they are discussing three different contents; 1. one is water, 2. one
is wine, and 3. one is brine (or oil). There is a dispute between *"w7 and N1BOIN as
to which case each Xn>72 is discussing.

- “y99mav nna 89 1 199N ©2IVN DIRY KRNI ©IVMIPH V9
»'"'w9 explained that if the content was water, which is not significant, we say

that she is nwmpn with the cup, but not with its content -
- 513 N1 19903 Y N1Ha YNT XIPNA

By wine which is significant, she is nw7p» with its content but not with the cup -
= 192D 1Y 798 ©19M) HAVY D29 DY NVYYY DT 90N YW NN

And with 897733, which is fish brine which is made to last for many days, as a

dip, and the cup is necessary to keep it, or -
- 5)9Ia W N1193) 92 Y1 MY IMIN PAYNY 999 THIY AN 193 1Y KINOY NN NYY

Another interpretation of X91°% — oil, like the word =7%5, which requires a
vessel, for it is kept for a long time, so in either of these two (brine or oil) she is
nwTpn with the cup and its contents. This concludes *"wa.”

nooIN asks on >"wAD:
- SN’nﬂW N30 970 N PPNT O 99%24Y )2

And the n''1 has a difficulty with >"w19, for the three answers do not correspond

! This means that she keeps the cup and the content; also that if neither of them is a ", but together they are a
8"y, she is nwTPH.

2 This means the cup must be worth a 8"w (without the contents), and she needs to return the contents.

? The content must be worth a 5", and she needs to return the cup.

* Answer # 1 (X°m3) is for Xn°™2 # 2 (1912w 773 X1 12).

5 Answer # 2 (X71m13) for Xn™2 # 3 (12 X1 1902w An3).

% Answer # 3 (X77°%2) for Xn™ 2 # 1 (DI 0 12).

7 According to >"w1 the woman’s mind is to be nwTpPn with what is significant; water is totally insignificant,
therefore she is nwTpn with the 013, wine is significant (and the cup is merely a medium how to give her the wine),
therefore she is NwTpn with the wine and returns the cup, X77°X is significant, but (since it lasts for a while) it cannot
be given without the cup, therefore she is nw7P»n with both.

¥ See footnotes 4-6. Seemingly the first answer (X°1) should correspond to the first Xn»72 (12102w 7121 12), etc.
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to the order of the nin*»m2 which were mentioned.

mooin offers his interpretation:
= 9190 223D DYV DNNY 1NNV NNIY 1A NN DN 129 W9 19Y

Therefore the n''v explained that with water she is 123w 7123y 12 nwTpn, for

the water is nullified to the cup (the water is not significant enough to be considered a

separate entity) -
= 9191 %257 YV 1IN YN PPINY y99maY N3 XYY 12 XN

With wine she is 1202w 722 891 12 nwpn, for the wine is significant and is not

b3 to the cup (which is more 2wn) -
- 1990 59 NOD ANYTT MNIY T2 53 BYN 1N DYFN 1)

But nevertheless the wine is not that significant that we should say that her

intention was to be nwTp» with the wine (the cup is more 2wn) -
- 1998 5335 502 99K D917 13 XY YA 191 )N I 2IWNT ININAY HHa XINN YN

However with X9:1°% she is 12waw an»2 nwnpn, for the contents are more 31277
than the 013, but not with the 01>, for the 21 is not »v2 to the X=72.

modoIn dismisses the question of the N3 on >"wA5:
= RPN 970D WYIN 1INT N2 139813 2910 NI NIV IND ON 139297 NOWIP 11191

However the s'n''a question is not really a question, for we find in the X923 that
we are not concerned that the answers should correspond to the order of the
nIN®13, cited -

=910 INIY NDY ¥aAP NY XY PaN2 DN )W NI 23D (x5 naw) JWIN 7992 9INT
As the X 1) states in s 99 regarding the rule that a person should not sleep

in 720, neither a permanent sleep nor a nap, etc.
:NaYM o

So examine that X773 and you will find that it is not >3 970>.

? See “Thinking it over’ # 1.

'O If the x7% is not a 5" (only together with the 013), she is not Nw7P» (and in any event needs to return the 012).

""" According to 'own, the woman is nwTpn» with the 2wn 727 only, unless the item which is not 2wn is so
insignificant that it is 203 to the 2wni 727. Therefore, 1. by water it is completely insignificant and is 7v1 to the 012
(she is 1212w 7121 12 NWTPR), 2. the 013 is more 2wn than the 1 (but the 1 is sufficiently 23wn not to be 711 to the
019) she is 192w 712 K21 12 NWTPR, 3. by X°X which is more 2wn than the 013 (however the 013 is sufficiently 2wn
not to be 912 to the X177°X), she is 12 X1 1902w 722 nwTPn. These answers follow the order of the mn» 2.

"2 The x7m3 cites there three mn>12; 1. One may nap with 120, but not (a permanent) sleep; 2. A person may either
sleep or nap with 12°5n; 3. One may neither sleep nor nap with 1°2°5n. The 83 resolves these Mn>»"2: 1. when he is
holding the 2°5n in his hands he may neither sleep not nap with them (for they may fall [xn>»12 # 3]); 2. When the
1250 are on his head he may nap but not sleep with them (for he may pass gas [xn»12 # 1]); 3. If the P2°2n are
covered and lying by his head he may nap and sleep (Xn™92 # 2). The answers do not correspond to the order of the
mn>12. See ‘Thinking it over’ # 2.
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Summary"”
According to "7 when something is totally insignificant it is excluded completely

(the o°n and the 012, she is 1212w 712 XYY 12 nwNpn), while '0I0 maintains that it is
included and part of its significant counterpart (the 2°» and the 012, she is 12 nwTpPn
122w 7121). They also disagree whether the answers of the X3 need to
correspond to the NIN>72 (the n"7) or not ("1 and '0INT XAND).

Thinking it over
1. According to the n"1 that by wine she is 12 nwmpn (with the cup), but not 7n2

1"n2w (with the wine),"* why does the mwn say, w27 RN 7 W 77 0132 °2 WP
nwTpn 71K "9, since he is wTpn her with the cup, but not 1naw 7!

2. moon proves that we do not follow the nmn»127 170 from the case of 0.
However there, answer # 1 corresponds to ¥n»72 # 3, so we can say the X3
wanted to first answer the last Xn»2 (which we were just discussing) and then go
back to the first two, however here the first answer corresponds to the second
(middle xn>12), and that is unusual!'’

13 See also footnotes # 7 & 11.

14 See footnote # 9.

15 See 7x391 17 a2 Awn nbM1 and TSN WIOR XN # 90.
16 See footnote # 11.

17 See TN *won XK # 105-7.
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